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250 0.3125Jxdx =∫
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24 6.75 ft-lbsxdx =∫

12. 8cm

14. There are different-looking integrals that work equally well, depending on which way you think of

things: ( )
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0 0
9.8 8 9.8 8 6 1411.2Jx dx x dx⋅ ⋅ = ⋅ ⋅ − =∫ ∫
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40 320 3200 ft-lbsx dx− + =∫

18. ( )( )
10

5
2 5 2.5 62.5 ft-lbsx dx− =  ∫

20.
5

1
9000 108,000  ft-lbsxdxπ π=∫

22. ( )( )3 2

3
9800 4 9 1,411,200  Jx x dxπ π

−
+ − =∫

24. ( )
6

0
62.5 20 6 45,000 ft-lbsx x dx⋅ ⋅ − =∫

26. ( )( )3 2

0
9.8 900 4 9 813,645  Jx x dxπ π⋅ + − =∫




